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<P > HHHBHHHRHHHRHHHHHHHHHHHRHHRIH System #HHHHHHHHHHHHHHRHHRHH <Dr
/> #E—FRRTEERFPRIID, ESREIESL. <br />broker.id=0<br />#RZiH0, BKIA9092<br />
ort=9092<br />#is0iblit, A& AAFAHBIE<br />host.name=debugo01</p>
<p># QBRRIE R ALLTRE <br />num.network.threads=2<br /># {MBRIEZ 1/ OMILFEEI<b
/>num.io.threads=8<br /># —EE&Z&FEE<br />background.threads = 4<br /># FiF 0%
ANBRVIERBAT ISR AZ  <br />queued.max.requests = 500</p>
<p># socketfy&iXE RX (SO SNDBUF) <br />socket.send.buffer.bytes=1048576<br /># s
cketA9#EWIEE IMIX (SO RCVBUF) <br />socket.receive.buffer.bytes=1048576<br /># socketig
HEAFHH., ATHLERGFREH, message.max.bytesth¥AZ/\F<br />socket.request.max.byt
s = 104857600</p>
<P > HHHHHHHRHHHHHHHHH AR TODIC HHHHHHHHHHHH AR AR AR <Dr
># FMopiclID XN, EZMpartitione™=4EZAJsegment file<br />num.partitions=2<br
># BERFEREEopic , HEfalse, MiBE@EIMmSEI#Etopic<br />auto.create.topics.enabl
=true<br /># —/topic , B\ XMreplication™N , REEAXTFEEFHbrokerfd N, <br />de
ault.replication.factor =1<br /># JBERIIRAA/N, BAEFT <br />message.max.bytes = 1
00000</p>
P> HHBHBHBHBHBHBHBHBHBHBHBHBHRHHE Z00Keeper #H#HHHHHHHHHHHHHH R R R R R
<br /># Zookeeper quorumiZ &, MNEEZ MERIES D EI<br />zookeeper.connect=debugo
1:2181,debugo02,debugo03 <br /># i&EZzkRIiEERTHIE] < br />zookeeper.connection.timeout.m
=1000000<br /># ZooKeepersfftleaderffollowerZ [BJfYEIZESLRR <br />zookeeper.sync.time
ms = 2000</p>
<P > HHHHHHHHHHHHHHHHHHHHHHHFHHRNE L OQ HHHAHHHHHHHHHHHHHHHHH R AR <Dr />
HEEWESR, SMNEFRERESSEI<br />log.dirs=/var/log/kafka</p>
<p># HAETEANBEHRER, SBEUEfushz|BES4E+., EXIA10000<br />#log.flush.interval
messages=10000<br /># AR TEAETEI(MS)ES, HIT—X&HAIfFlushiB{E, interval.msFlinte
val.messagesToICEFNXE], #&flush, EXIA3000ms<br />#log.flush.interval. ms=1000<br />#
MNEREEEEBHENushfIEdE)ERE <br />log.flush.scheduler.interval.ms = 3000</p>
<p># AEBIEFERR (delete|compact) <br />log.cleanup.policy = delete<br /># B {R1FATE
hours|minutes), ERAA7X (168/M\dT) . BITXMIEISIRIEpolicy /M EEUE. bytesfiminutes
IO NEIAZIERS A, <br />log.retention.hours=168<br /># AEEIBFHEIIEAFTEL. B
XM EISRIBpolicydh BEHE, <br />#log.retention.bytes=1073741824</p>
<p># f=HlHEsegmentSUFRIA/N, EBHIZA/NUEMNE—MNRIREsegmentSX 4 (-13F73%
BIREI) <br />log.segment.bytes=536870912<br /># ZAZITEATE, SBHEFE—""segmen
<br />log.roll.hours = 24*7<br /># BERERXHHINERR, EEC(IREXLE 7HIFRRIRANR
(log.retention.hoursglog.retention.bytes) <br />log.retention.check.interval. ms=60000</p

<p># EBFFEELE<br />log.cleaner.enable=false<br /># 3FE4509 A SR BHISKAT A <br /
log.cleaner.delete.retention.ms = 1 day</p>

<p># XTFsegmentHERIZRS |4 A/NBRE <br />log.index.size.max.bytes = 10 * 1024 * 1024
br />#yZ5IHER—MENX, —RRABEIRE. <br/>log.index.interval.bytes = 4096</p>

<P > HHHHHHHRHHHHHHHHH AR AR replica HHHHHHHHHHHHHHHHHH AR HHHRHHHRS <Dr
/># partition management controller SreplicasZ[ai@HBIERTAY[E] <br />controller.socket.tim
out.ms = 30000<br /># controller-to-broker-channelsi§ 2RAFIRIR J K\ <br />controller.me
sage.queue.size=10<br /># replicaslgfi;leaderfIExI<ZFEFATE], HEBILXMEYE, FiiEreplica
HEBRTEE TR Z S <br />replica.lag.time.max.ms = 10000<br /># BB iFEHIzE X Fbroker &
REAtrue, X AFIEEX Nbroker EfYleader, FHEEREEIEftbbroker<br />controlled.shutdown.
nable = false<br /># =528 X FAN=IRIRE <br />controlled.shutdown.max.retries = 3<br />#
FRFERERAYRTENIEFE <br /> controlled.shutdown.retry.backoff.ms = 5000</p>

<p># tNRrelicasiZEAZ, G\ ltkpartition relicasB 4253, M—IRIER T, B AMKIERERE
BeBHreplicasHiBEREL HE. NMRBE™ERG leaderiEIAAlttrelicasMEIEIRIZ K E HR
ITEENARR, FEbrokerfEBI/D, BEMNBABRIIMES EIIRSILE. <br />replica.lag.max.messa
es = 4000<br />#leaderSrelicasiJsocketiBRIEt A <br />replica.socket.timeout.ms= 30 * 1000
br /># leader&lfJsocketEF /N <br />replica.socket.receive.buffer.bytes=64 * 1024 <br />#
replicas& RIRENEURAIERAFE o8 <br />replica.fetch.max.bytes = 1024 * 1024 <br /># replica
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Elleaderz BBEHRAEFNE, LW T SEA <br />replica.fetch.wait.max.ms = 500<br />#
—Metch2{ER R/ NIRRT iR leaderdER B AIEUE A BIHE BEFFEEEUBAZIX MK
<br />replica.fetch.min.bytes =1<br /># leadershi#{TEFINILIZEL, WAXNMEESIEIOrelipc
AYIO<br />num.replica.fetchers = 1<br /># P replicaEmza/K AT lushBIRTE)EIFE <br />re
lica.high.watermark.checkpoint.interval.ms = 5000<br /> <br /># & Bz EbrokerZ [EHY
BiEEl& <br />auto.leader.rebalance.enable = false<br /># leaderfl9AF&ELL G, BEEBILXN
B, £X9XK#EITEFNOFEE <br />leader.imbalance.per.broker.percentage = 10<br /># t§&le
derEAFEHIBTE)EE <br />leader.imbalance.check.interval.seconds = 300<br /># ZFig
BRoffset{SERIERAKZBI A/ <br />offset.metadata.max.bytes = 1024</p>

<> HHHHHHHHHBHHHHHH AR AR HRRF CoOnsumer #HHHBHHBHHHHHBHHHHBHHHHHHHRHHHR
br /># Consumerigiz/OA9EC & 2group.id. zookeeper.connect<br /># RiEiZConsumer 3/
HE—2HID, By setting the same group id multiple processes indicate that they are all part of th
same consumer group.<br />group.id<br /># jEZEMID, E2ISEIRBNIE, £8E<br />c
nsumer.id<br /># — P BTFIREFEERNID , &iFREIgroup.idf8E<br />client.id = &lt;group id&
t;<br /> <br /># ¥FzookeeperEERFHUiEE, WiFlbroker{FEHAREERIZKELE <br />zookeeper.c
nnect=debugo01:2182,debugo02:2182,debugo03:2182<br /># zookeeperf:/\MktBATATIE],
TIX P EFIA AR TRATEZRE <br />zookeeper.session.timeout.ms = 6000<br /># zookeep
rVEEHEERTE < br />zookeeper.connection.timeout.ms = 6000<br /># zookeeperfifollowe
[Elleaderfy[EZER(E] <br />zookeeper.sync.time.ms = 2000<br /># 2zookeeperdiZBHIiaAYoff
etht, EEiBE offset EIRATAILNIEST, . <br /># smallest : EBAF/IME <br /># largestEBE
BA(E <br /># anything else: #iEH&ELconsumer<br />auto.offset.reset = largest</p>
<p># socketfUFBATATIE], SEFRAYFBATATIEIAmax.fetch.wait + socket.timeout.ms.<br />socket.t
meout.ms= 30 * 1000<br /># socketAEWIEEFZ B A/ )\ <br />socket.receive.buffer.bytes=64
1024 <br />#M\EB PN XfetchfGEEX/NRF <br />fetch.message.max.bytes = 1024 * 1024 <br
/> <br /># truelld, ConsumerafEiEZiBERGEoffsetEEE zookeeper, XiEZConsumerskiy
., FrfconsumerifigeMzookeeper kBN EFfYoffset <br />auto.commit.enable = true<br />#
SIFRACAYRTIE)EIPE < br />auto.commit.interval.ms = 60 * 1000<br /> <br /># T BZEIRKEL
AUBRHRE AN, BMRATLIERFfetch.message.max.bytes##{E <br />queued.max.messa
e.chunks = 10</p>

<p># HBEFconsumerIAEIgroupht, iE=idreblance & partitionsAUiE ZimIE B2 FAconsum
reh, iIZIE B EEHARE <br />rebalance.max.retries = 4<br /># &Xreblancefyat aliapg <br />
ebalance.backoff.ms = 2000<br /># EREFEL leaderfiUAd(E] <br />refresh.leader.backoff.m
<br /> <br /># serverRIXEIHZIRAVR/NEIE, ERMNHEXNMEENSEFSFERIREEEX/N
EAATRIZAMEIL, <br />fetch.min.bytes = 1<br /># HEAR#EEfetch.min.bytesht, FiF
A KIS E Y] <br />fetch.wait. max.ms = 100<br /># WSS EM BRI EHTEE R
HZE, HHEEE, BA-1FRTAZR <br />consumer.timeout.ms = -1</p>

<P > HHHHHHHRHHHRFHHHHHHHHHHFHHR R Producer #HH#HHHHHHHHHHRHHHHRHFHHHHHH#HH# <D
/># OB ERIE: <br /># metadata.broker.list<br /># request.required.acks<br /># pro
ucer.type<br /># serializer.class</p>

<p># BBEIREBGEEITISE (topics, partitions and replicas)agitiilt BEEI&TUE: host1:port1,hos
2:port2, WEILATESMEIRE—Mip<br />metadata.broker.list<br /> <br />#EERIAER, <br
/>#0: NMREBRBAVEIAHA, RERX, (MERERSEIEENEKX, R Mserver’kaIIE
T, BRUETCP<br /># 1. RIXBR, FAaFfleader WEIHHIAG, —ERIRISEM<br />#-1: &
HE, FfifleaderliiZEIA, FHITEBIERMFE, ZRE, &SRIRTEME<br />request.required.ac
s = 0<br /> <br /># i BERENRIKEFAIBE <br />request.timeout.ms = 10000<br /># socke
RIEF R/ <br />send.buffer.bytes=100*1024<br /> # keyfIFFIE AR, BEIRBIRE, [Eserial
zer.class<br />key.serializer.class<br /># 2 XAIZEE, BRAZBUE<br />partitioner.class=kafka
producer.DefaultPartitioner<br /># [BERIEFIRIL, EAIAZEnone, BILIEgzipFisnappy<br />
ompression.codec = none<br /># IS ERE4FERItopi ol {T/E4E <br />compressed.topics
null<br /># BEAREEMEIEIRRE <br />message.send.max.retries = 3<br /># BREM
HIEFEATE] <br />retry.backoff.ms = 100<br /># =& EREHtopicTtERRIEEEMR , &2
BAN0, IASESNERRIEREEEMEIE<br />topic. metadata.refresh.interval.ms = 600 * 1
00<br /># FAFMEEIEE, BEAFEES, TEMATIRIRCRIER <br />clientid=""<br /> <br />
SEEN MERPESUBRRIRARE. FlUhZEN100M2ES8100msAENEEEAEX, XESiREEL
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, (BEESIEINERAIXAVZER <br />queue.buffering.max.ms = 5000<br /># FEER & T
ASHE#, [EL<br/>queue.buffering.max.messages = 10000<br /># BEERT, HEHA
FINESRdE, ER2IREN0, WHEAERS, MRHEANARTIAYI, WEEEHIF <br />queue.enqu
ue.timeout.ms = -1<br /># BEEAT, BRKEAGEEE, Hqueue.buffering.max.messages
queue.buffering.max.msiEE 54z —Hfproducerafii A &i%, <br />batch.num.messages=200
/p>
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